ALBITRELAEKR—E
ARLBITH SH6E11 8268 E13-1[E IELHF AL
CHERIR) CHERIR) CHERIR) CHERIR) CHERR)
- %ﬁ T X 4 EEHX (%{Eﬁ%ﬁ%) ég; EALEE FEALMAE 2E4 AfL£%E 2E4 AfL£%E ES-E A+L£%58 £
DGR ‘iﬁfﬁgﬂ{ﬁ% CTEREMIR | mmmm 90000 |EESERTEIZ 87,000{NiX = (#) 89,000| S HRTIBARE 87,000 ) 7 AE— 90000 E{EZ2HY
n “BERi (71,000) (%) (%) avH LAV
6E_BETSUL |HIETHE _&E ot o NI o s 4
BREYXRE |[EBRET  EBRBERRUERE TS 1,606,000 1 g*)’mm’ﬁ*ﬁ 1,550,000 '(ﬂ'?m} - iR g*)’mm’ﬁ*ﬁ 1,550,000| FE A2 (k%) )
WHEBET K801 &)
) ) 6E—METIUL |WETE—HE Ry a— iy Y1—
REVMHER | EBRF HEREERRR (TS5 GET 499,750 1 Lavy—ER 490,000{#F £ T % (#%) HR[2avY—ER 490,000 # LI = (#%) 495,000
EBRE HANMEsEH) (%) (%)




